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Answer to the question no 1(a)

# Compute the mean, median, and mode. Is the distribution symmetrical, positively

skewed,or negatively skewed? Explain.
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Answer to the question no 1(b)

# Study time of 10 students (in hour) 3,4,2,4,6,2,5. Calculate the coefficient of kurtosis.
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Answer to the question no 3

# A basketball player makes 82% of the free throws he tries. Assuming this percentage

will hold for future attempts, find the probability that in the next five tries, the number of
free throws he will make is

(i) exactly 5 (i) at least 4 (iii) none (iv) Find the mean & variance
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Answer to the question no 4

# An average of 5.8 customers come to the bank every half an hour. Using the Poisson
formula, Find the probability that during a given hour, the number of customers who will
come to the bank is

a) atmost3

b) 7 ormore
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Answer to the question no 5
# A very large group of students obtains test scores that are normally distributed with a

mean of 48 and a standard deviation of 7. What proportion of students obtained scores
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